20. Time and ‘Eternity

Miisic by Bird of glass--Reprise iifiisie by
Toni Thomas Duet for soprano and tenor with piano Diane Tuiofu
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Time is but a wave, u -pon an end -less sea.
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Past and fu-ture flow as one un - to e-ter -ni -ty
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mor - row's mys - ter -y we trust to God a - bove, but
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lost in un - cer - tain - ty we cling to what we
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How sure - ly i has swept a - way-- though I would
[ I 2
I
love. How sure - ly has swept a - way-- though 1 would
Pem——

=
e

o0el

L — e
e

N
.

;f
;

161



e= == . » o '3 @ o ——
o r—e—* - e D e
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try 1 can - not make it, make it sta?r. Though in time's
9 ll?. P = q( ‘ ]
—n g w —
AN .
g F
O . . - £ =
half LW B
S R e
16 L;—_—:—: 17— —
| E— e |
| E = - »- a —
.l' [ | Vi I
AN P —— | r 1 !
e : : : ! e
end-less stream all things must end it, end it seems-- ; for - ev - er
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end -less stream all things must end it seems-- - for -ev - er
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